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QUESTION 1

Which two statements are true when considering the vRealize Automation logical design for workload storage
placement based on service levels, cost, and performance? (Choose two.) 

A. Secondary disk attached to the virtual machine resource use the same storage constraint tag as the virtual machine 

B. Storage constraint tag is applied to virtual machine resource and all the disks associated with the template 

C. vSphere tags can only be used in storage profiles 

D. Storage placement is independent of vendor when using hard constraint tags 

E. First class disks are only supported in vRealize Automation Cloud 

Correct Answer: BE 

 

QUESTION 2

What two statements are true about vRealize Operations Manager high availability (HA)? (Choose two.) 

A. With HA, data stored in the primary node is partially backed up on the replica node. 

B. Upon failure of the primary node, failover to the replica is automatic. 

C. If the primary node fails, the replica node can take over all functions of the primary node. 

D. To enable HA, you must deploy at least 3 data nodes, plus the primary node. 

E. Data collection must be restarted from the administrative interface when the primary node fails. 

Correct Answer: BE 

 

QUESTION 3

An architect is designing a private cloud solution for an organization and has been given the following 

information: 

The organization already has a VMware Workspace ONE Access 3.3.2 cluster with external MSSQL 

server for their existing virtualized desktop environment. 

Due to budget constraints, wherever possible, the architect needs to reuse the existing environment. 

What should the architect recommend as an authentication solution for the private cloud? 

Note: VMware Identity Manager has been renamed as VMware Workspace ONE Access. 

A. The existing instance can be reused as authentication provider for the private cloud but maintained outside of
vRealize Lifecycle Manager. 
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B. Import the existing Workspace ONE Access cluster in vRealize Suite Lifecycle Manager but do not reuse it for the
authentication purposes. 

C. Deploy a new instance of Workspace ONE Access cluster using vRealize Suite Lifecycle Manager and use it for
authentication. 

D. Import the existing Workspace ONE Access cluster in vRealize Suite Lifecycle Manager and reuse it for the
authentication purposes. 

Correct Answer: B 

 

QUESTION 4

A customer wants to deploy Workspace ONE Access for vRealize Suite users. 

The customer wants to achieve the following requirements: 

Availability SLA 95% uptime per month, calculated Monday-Friday, 24 hours per day. 

The deployment footprint must be minimal. 

Which design decision should the architect choose? 

A. Deploy a Workspace ONE Access cluster and protect it with vSphere HA. 

B. Deploy a Workspace ONE Access node and protect it with vSphere HA. 

C. Deploy a Workspace ONE Access cluster and protect it with Fault Tolerance. 

D. Deploy a Workspace ONE Access node and protect it with Fault Tolerance. 

Correct Answer: C 

 

QUESTION 5

A cloud architect is writing an implementation plan for deployment of a clustered vRealize Automation deployment that
will use a third-party load balancer. 

Which two steps should the architect include within the implementation plan to ensure a successful deployment of
vRealize Automation? (Choose two.) 

A. Disable all secondary nodes from the load balancer pools 

B. Create and configure the monitoring of vRealize Automation and vRealize Orchestrator 

C. Ensure all the SAN certificates for vRealize Suite are available 

D. Enable all non-primary nodes on the load balancer 

E. Turn off the health monitors or change them temporarily to default to ICMP and ensure traffic is still forwarding to the
primary node 

Correct Answer: BC 
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